L=
12 L%)k\%) i (f ;f)a?
N S
ekt ,
kW

(m_m{wu ek Sur wa'o%c |1m Ve

———

@‘\c’) Ay = =Tx H{O S /1 O)-‘:
\ M~ X :( | 0 o
W=t —
/

(hh retoX
/
ﬂchm‘(‘uﬁ Hoe ”



| tn) %v\,(ﬁ la)

Conpite det (7 ) 58- 3= -1y 0

B3R =(3)
K"‘X

/

B8 (5 2) 80 =640
2 at=(d)
F it (12)z0-000
l

So Mve will be G~y eoﬁuiltlwm.
MM\’(\‘M out \
(5)= (C;‘:f; 3)
SN
=X\ = 0=-2Xx e 0b (wmilhpl
o) lx) {@3’ < gt ()

W, "x=o dehws o lie o egilbas

vzo (Y-0x%)
,%;

>
X



“od a2 )
= 5(37)

D=020)

\Lmul‘\. on LBt ‘0\' C‘E )'




343 Cigrudye TW5em 0)

: Moty wethod Yo solae @KA)?

A ;
yow })/113 5

nfm/””

Fom ‘;:Ve ,\Ntﬁd 'IC‘")\VQ
Now shshide tde DE X '=AX
J, )\;I) e)t _ ﬁ3€x‘t . ,
(‘\ at C(m'\. dwv ‘1\1 v ble?
1 ‘j@/ dinde oy € X & wvh#)

“n " algebarc e-%eww(f«(
20" poblem”
0 wjn.v» s o eiguedea d N f g?‘-,w e S0 u
st Ao e canshot X 35 ealled "evymaae of R
W gae (V)A) called qn eign Qa'\\(. .
AW\ evopngenss gve 2 soln’ 2= \76” ‘,J( x =Ax.

/




Shwrg eagncdic pon

e
Ag :)\-\3
T\
S
Av- =0
-
(a-xL)V=0
-
e S QA vnatryy |
W %'ffﬂ_ | 50\n%), $0 by Twm fone LM Morch potes ¢:5)
'Y Z‘\ow«’( e nad
‘\;‘*“F W p ~ et (A-ND)=0O
ettt

R 3 (1) w5 (),
(SRS CHEEH)

G “dekfox b
@f,’fw (% A-x)

SAE abd ~(ard-x)-be
{rk\ﬁ‘l =ad-al~)\d _})“L‘ 'UC

= N =(atd)) +(ad-be )
=\- tri)a+ det ()



